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Read the satatement below and write a paragraph giving at least two reasons
why you agree or disagree with it. Write your answer in Eglish in the space
provided on your written answer sheet. (2013%F AT - BGRE : fHEHE (3 150mm ¥
1417)

(It is suggested that you spend no more than 15 minutes on this section.)

"The automobile is the most important invention of modern times.”
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LA Tk - il 1]

[ agree. In the days where there were no automobiles, if people wanted to
go to far away places, they had to walk, ride a horse, or use a carriage drawn
by horses or oxen. So, the number of places where they could go was limited,
and it took them many days, sometimes even months! Today, thanks to
automobiles, it is far easier for us to get about and we can do so much faster.
Moreover, our society wouldn’t be what it is if it weren’ t for automobiles.
Today’ s villages, towns and cities are all organized on the assumption that
people will use them. It is difficult to imagine life without them. (111 words)

LA TS - b 2]

I don’t think the automobile is the most important invention of modern times.
Certainly the automobile is a convenient way of transporting people or goods.
However, it cannot run without emitting exhaust gases. These gases are extremely
harmful to the environment, causing air pollution, global warming, and acid
rain. We wouldn’ t have these problems if it were not for the automobile. Any
invention that causes such damage to the earth cannot be regarded as important.
| believe electric trains, which can carry far more people or things than cars,

should be considered more important because they don’ t emit exhaust gases.
(100 words)
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MBS DHMDE 7 A Any invention that causes such damage to the earth
cannot be regarded as important. (3 No invention that causes such damage to the
earth can be regarded as important. &4 XETH5, [H—t 7 ANT any ¥
either A% not 125179 5 DI TH 5, Anything | have is not more expensive
than your car. (%) Nothing | have is more expensive than your car. (iF)

[B FAiike - s 1]

| agree with this statement. No other recent invention has had a bigger
impact on people’s lives and the world we live in than the automobile. This
impact has been both positive and negative. On the one hand, the automobile
has strengthened the economies of car-manufacturing countries and created
thousands of jobs. It has also brought many people enjoyment and a sense of
freedom. It has allowed people to commute to work or go on trips without having
to depend on public transport. At the same time, however, the automobile has
hurt our health and that of the environment. We get little exercise if we use
cars, and the exhaust gases released by them are one of the major causes of
global warming. (123 words)
X OB ... giving at least two reasons why you agree or disagree with
it. EOIFEERMMAL T, Bkomil & SO Ommilz F T Tn b, R OEK%E
MOEZTHWE LI, BEIERNTSEEIRBH1259,

[B ke - @b 2]

| disagree with this statement. In my opinion, the most important invention
of modern times is not the automobile but the microchip — because it made
personal computers possible. Since these computers first appeared in the
1970s, the amount of information that human beings can gather, process and
share has increased dramatically, and there have been more scientific
breakthroughs in the last 40 years than at any other time in our history. This
is especially true in the field of medicine, where computers have enabled
scientists to develop new drugs and treatments to save and improve the quality
of millions of people’s lives. The automobile, on the other hand, has made our
lives worse. It has polluted our air and made our cities noisy and stressful
places to live. (128 words)
KEADO=28HDt 7 A ... where computers have enabled scientists to
develop new drugs and treatments to save and improve the quality of millions
of people’s lives. DMHLEILE D 72> TWVWABDD, save & improve the quality
of OILFEDOHMEED millions of people’s lives EWH T &2/ 5D, XDY X
LR 720, save millions of people’s lives and improve their quality [the
quality of them] & L7zi39 DSCEDBHMEIZ7E 5 DT,



[C FAiike - s 1]

| agree that the automobile is the most important invention of modern times.
Thanks to the automobile, people have been able to move and travel great
distances. The automobile has also made possible the transportation of food,
equipment and materials to areas where they were unknown or scarce. This great
invention has enabled the great movements of people around the world,
resulting in the globalized societies and cultures we find today. Some people
might complain about some negative aspects, but I believe that the incredible
mixing of peoples, cultures and ideas that has come about thanks to the
automobile has and will continue to benefit all people. (107 words)
XEEPUS D resulting in the globalized societies and cultures we find today
(3 automobile 7% globalization [Z—&%E->TWAZ &l2747DY, BEpH M %M
ITLIzh, ZBERIRATZDITTERVDT, DREHNSH 5D T,
XDt 7 Z ... the incredible mixing of peoples, cultures and ideas
that has come about thanks to the automobile has and will continue to benefit
all people. D3 H#iix S =the incredible mixing ... <, V=has and will
continue ... &W9H Z &2/ %A%, has continue &IES A WVLWDT, has
continued and will continue &9 5~XET(, can and will continue * has been
and is beneficial [is and will be beneficial]l &\ o 7zfllEERIL TWBDTIE
IRWNIEA D D

[C Tk - b 2]

I don’ t agree that the automobile is the most important invention of modern
times. The automobile has taken away our formerly peaceful and relaxed way of
life. As a result of this fast-moving invention, our lives seem to be moving
faster as well. In Japan alone an average of 5, 000 people die in traffic
accidents each year. Another terrible effect of all these cars on the roads
is the negative change to the environment because of the exhaust gases emitted
by cars. And it is not just the cars, but the entire car industry; all the
factories that make the different parts also pollute the earth. The car has

been a cause of stress for all living things and is ruining our precious earth.
(124 words)
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(D o R )
| agree with the statement. First, it is true that human beings have invented

various things in history, especially in modern times: for example, the

railroad, the airplane, the radio, the telephone, the television, the word
processor, the personal computer, the Internet, and the nuclear electric power
generation, as well as the electric refrigerator or the electric washing
machine. These inventions have made daily lives remarkably convenient. Among
them, railroads and airplanes have sometimes caused accidents and destroyed
many people, and we think accidents of nuclear power plants are far more
dangerous than these accidents. However, traffic car accidents have killed the
greatest number of people, except for wars, natural disasters and epidemics

[infectious diseases], but almost no one claims that cars should be abolished.

For, as a means of transportation, there are no alternatives to them. This

proves the automobile is the most important invention of modern times. Second,

although it has negative aspects, including emitting poisonous exhaust gas,
the automobile is more than essential for the weak in society, such as
seriously sick or injured people, new born babies, the physically handicapped.

(182-183words)

*xEDX T AD such as LLFT, ... and the physically handicapped. &
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*epidemics [infectious diseases] %iBJHl,
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Read the satatement below and write a paragraph giving at least two reasons
why you agree or disagree with it. Write your answer in Eglish in the space
provided on your written answer sheet. (20144 AR - Bkt : fREEMIE151T)

(It is suggested that you spend no more than 15 minutes on this section.)

"People would be happier if they could live forever.”
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LA Tk - s 1]

| agree. What frightens us most is death. No matter how much a man tries to
achieve something, he knows his effort will come to nothing when he dies; no
matter how much a woman loves her husband, she knows she will have to part from
him when he dies. If death were to be removed from our lives, everyone would
be far happier because they would no longer have to experience these things.
Also, being immortal would mean that we would have limitless potential. There

would be nothing we couldn’ t do, because we would have more than enough time
to do it. (103 words)

ATt - sl 2 1

I disagree. First of all, if no one died, what would happen to our planet?
The world population is now only seven billion, but this has already caused
a lot of problems. If everyone could live forever, the world would be even
worse off. Second, suppose a person suffered serious brain damage and went into
a vegetative state. Since he would be immortal, he would never die! Could there
be any greater tragedy than this? His family would have to pay for his
treatment forever. Even if they wanted to commit suicide because of their
worries about debt, that would also be impossible. (103 words)



[B ks - sl

People would be sadder if they could live forever. If no one ever died, the
world s population would quickly increase. Competition for food, water and
other natural resources would become fierce, and many wars would break out.
Rivals would not be able to kill each other, but the fighting would
nevertheless be painful and stressful. Our consumption of fossil fuels would
rise and global warming would become worse. The sea level would rise and many
coastal cities would be destroyed. Those that remained would become
intolerably crowded. Eventually, we would realize that the only way to make
life on earth sustainable would be to stop having children. The earth would
be populated by billions of old people. It would be like living in hell. (124
words)

(DI 2|

| disagree with the statement. To be sure, if people face unexpected death,
whether it is because of some unpredictable accident or an incurable disease,
it certainly upsets and distresses them. People heartily wish they were
immortal. However, if people could stay alive forever, it would mean loss of
life stages except infancy or childhood. Expanding adult populations would
continue endless fierce struggle for [over] various resources, in all places
on the earth. In a short period, the world would become what they might call
hell. Moreover, what is truly miserable is that, as people could never die,
they would have to “live in hell forever.” All they could do would be have no
children. However, nothing could be more terrible than this. (122 words)
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Read the statement below and write a paragraph giving at least two reasons
why you agree or disagree with it. Write your answer in English in the space
provided on your written answer sheet. (20154 H'AgH - Bkt : ST 17)

(It is suggested that you spend no more than 15 minutes on this section.)

"The voting age in Japan should be lowered to 18.”
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LA Tk - s 1]

| agree. There are many people who are opposed to giving voting rights to
eighteen-year-olds, claiming that they aren’ t mature enough to take part in
politics. This is nonsense. Teenagers have learned the difference between
right and wrong, and they are beginning to be responsible for their behavior.
So, at the age of eighteen, they should be given the right to vote, as in the
U.S. and many other countries. Also, in Japan, the number of old people is
increasing now, so their interests are given a higher priority. Young people
should have a greater voice. (96 words)

LA Tk - i 2]

I disagree. People in Japan are living longer and longer, and it is not
unusual for them to live to over eighty! In the days when people only lived
to fifty, eighteen-year-olds may have already been real adults, but at present
you definitely cannot call them adults; they aren’ t mature at all. What will
happen to Japanese politics if they are given the right to vote? Moreover,
most of them aren’t interested in politics, and they will most likely not go
to vote. So, there is no merit whatever in lowering the voting age to eighteen.
(96 words)

XIEDOL VT VA So DBOH V<IIALE,
Xthere is no merit whatever: there is no merit at all
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[B ks - sl

Some people say the voting age in Japan should be lowered to 18 because this
will encourage more young people to take an interest in politics and how
society works, and because this will make them more responsible citizens when
they are older. In my opinion, however, people of this age are too immature
to vote. Most of them are still students and depend on their parents for food
and housing. They would be easily manipulated by political candidates and
would vote for people based on their looks or celebrity rather than the
policies they wanted to carry out. We should leave the voting age as it is.
(108 words)
XiEAN 6 _FHDE 5~ Z would vote for people based on ... ® based on
LUFIZEDDEMSCTH Y, would vote for people, based on ... &RijlZH v~
2 o723 nERbNn s, 7 LEBUSICIZREL LW,

[C Tk - b 1]

| agree that the voting age in Japan should be lowered to 18. First of all,
Japanese society is rapidly aging, and there are more and more elderly people.
The concerns of the elderly are not always the same as the concerns of the
young, so unless there is a balance, the elderly will be deciding things that
may be good for them, but not for the future generations. So younger people
need to vote and make their voices heard politically. Also, by lowering the
voting age to 18, young people may feel more of a sense of responsibility and
value. That would surely benefit our present and future societies. (110 words)

[C FAiike - s 2]

| disagree that the voting age in Japan should be lowered to 18. First, young
people in Japan today are not mentally mature enough to understand or think
about politics and the consequences of one person’s vote in an election.
Second, most students are too busy playing video games, reading manga or else
studying for some exam. They do not engage in political discussions or seem
to be aware of the problems facing Japan. | would be afraid of giving them the
power to vote until they are really ready. If we gave them the vote too early,
most of them would probably just vote for the most handsome or beautiful
candidate! (112 words)
Mo —FHDE 7 A2 | would be afraid of giving them the power to
vote until they are really ready. @ until (& before DREWTIT/ZWLDD,

RAN—220044F BLRRH - 5580 PAR IGERADOREN 2 frd 5, B E LT
(Z100FELL_ L iR % 5k & N A BTEDBHE B & U DR FIB ClIEBENEY, *
7z one reason & two reasons DEWAH 5D, ARSI Z 5139 TH 5,



CRAGH () BHALSRGEZ - iR 1]

| agree with the current law. The main reason is that in Japan at the age
of 18, most of us are just busy preparing for university entrance examinations,
so we cannot afford to do social activities or think about social problems.
We are not yet mentally mature enough to be called adults. (52 words)

(CRAGH () BHAASRGhZ - iR 2 ]

I think the age of majority should be reduced to 18, because after graduation
from high school, some of us begin to work and pay income tax. In practice,
we come of age at eighteen. Rights should go with duties. We should be given
the right to vote at the age of 18. (53 words)

%¥in practice: practically *come of age: become adults

Z DfFEH & (5 DRI & 8T, Bl HBORER =R d 5,

(RaffA s oeGh 2t - 75 1]

| agree with the statement. First, the voting age usually accords with the
age of majority, and it is 18 in many countries. Why in Japan, one of the most
advanced countries in the world, should it be 20? Some people argue that young
Japanese today are not mentally mature enough to become adults. However, this
is the result of the age of majority being higher than that of other countries.
The argument just confuses the cause with the effect. Second, not a few young
Japanese begin to work and pay income tax after graduating from high school.
Practically, they come of age at 18. They should have the right to vote at 18.
(114 words)
*kaccord [agree] with ...: be in accordance [agreement] with ...
*the age of majority: the age at which people come of age

(BaffAts oGh 2 - 75 2]

| disagree with the statement. First, in Japan, at the age of eighteen,
around half of the young people are just busy preparing for university entrance
examinations. So they cannot afford to do social activities or think about
social problems. In other words, they are not mentally mature enough to have
the right to vote. Second, the voting age usually accords with the age of
majority. Lowering it to eighteen can lead to imposing the duty of paying
social costs, such as pension and medical insurance, on eighteen-year-olds.
However, many of the young Japanese at twenty depend upon their parents for
living expenses. The lowered voting age could merely burden parents two more
yeras. (114 words)
*two more years: _fFR/MC

RFTALDIEED] ThR 2 SRR ENTWAS DT, &R 2 DT, <D
[z & 2 CHlOBRD oD EFTz,
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Read the statement below and write a paragraph giving at least two reasons
why you agree or disagree with it. Write your answer in English in the space
provided on your written answer sheet. (2016%F ELRGH - BGF?)

(It is suggested that you spend no more than 15 minutes on this section.)

”Smoking should be made illegal in Japan.”

ATt - #5410 11 AGREE

| agree. Smoking is not only bad for the health of smokers but for that of
nonsmokers. Passive smoking is a big problem today. It has been scientifically
proved that exposure to second-hand tobacco smoke increases the risk of cancer
and circulatory diseases. Moreover, smoking causes fires very frequently. It
often happens that because of a lit cigarette a fire breaks out in one room
of an apartment, spreads to the neighboring rooms and, in the worst case, the
whole apartment building is destroyed. Many innocent lives may be lost due to
one smoker. (94words)

LA PR - 24 21 DISAGREE

| disagree. Tobacco prices include a tax. This means that smokers contribute
to the revenue of the government by buying tobacco. The taxes smokers pay
amount to a great deal of money. If smoking were made illegal, the government
would have to think of ways to make up for this money, which would certainly
be tough. Also, making smoking illegal would mean that tobacco would be treated
like illegal drugs. As a matter of course, tobacco production would be made
illegal too. However, there are many farmers in the world who earn their living
by growing tobacco. What would happen to them? (102 words)

[B Tk - sl

| disagree with this idea. It is true that smoking does harm to the health
of smokers and non-smokers who are near them. It can cause lung cancer and
heart disease, for example. It is also true that hospitals spend a lot of time
and money treating sick smokers every year. However, to keep our democracy
healthy, 1 believe adults should be allowed to do what they want with their
bodies provided they do not hurt others. If we ban smoking, we will have to
ban other harmful activities such as drinking alcohol or eating too much
chocolate. It will never end. Furthermore, smoking is good for the economy.
The government collects a lot of tax on cigarette sales, and the tobacco
industry provides thousands of jobs for people in this country. (132 words)



[C FAiike - s 1]

| agree that smoking should be illegal in Japan. It has been proven again
and again that smoking is bad for the health and a leading cause of lung cancer
and other respiratory problems. And it is not only smokers who suffer.
Second-hand smoke, the smoke we non-smokers are forced to inhale when we are
near or around smokers, is just as harmful as inhaling the smoke from a
cigarette directly. Carelessly smoking in bed is one of the main causes of
fires in people’ s homes and many lives are lost each year to this useless
habit. There is absolutely nothing good about smoking, and it should be banned
altogether. (110 words)

[C FAiike - s 2]

I do not agree that smoking should be made illegal in Japan. Japan is a
democracy and people should be free to make decisions about their lives, even
if it means doing their own bodies harm. Nobody has the right to take away that
liberty and freedom from others. However, those who do not smoke should also
be respected, and they also deserve the freedom to live without having to
inhale somebody s second-hand smoke. In order that both groups can live and
work in harmony together, the government should set up more ’smoking stations’
where smokers can smoke and enjoy their habit. In that way everyone would be
happy. (109 words)

(DI o )

I disagree. First, if smoking is so bad a habit as (it is) considered in
general, why (should) have (many) people in various places of the world made
it a practice to smoke (ever) since ancient times? Something that has existed
standing the test of time must have some merits as well as demerits. Making
tobacco an illegal drug could create unexpected or, strictly, expected severe
social problems as the prohibition of drinking alcohol did. Second, we should
not deprive people of their right to do what they want to except when they
behave against the public interests. Therefore, smoking should not be
prohibited totally, but just in public places. (105-110 words)

*standing the test of time: WEDIAMICIFA T, KEORMZFET (550
strictly: strictly speaking; to be exact

except when ... : unless ...

XKBUEDTE & Vo T BN 2 Lizidin g, —HEmZi 2l 7o, BT —
< DHGEIIG T & S5 2R 512 TH 5,
20165FE D FRRHNEAIB OS] &, HARKICFECR Y » R > TWb,

MALEEEE S ORICEL ) BB LIzDY, (kD THB &, HE TSI £
LWEIE TR O EMAMIZIZEY, 72720, MAOHERZHIBRY % 2 &12idHic
HEHETH D20, DO TOREOEET, ABOEBN X IEE DD 0w & #0
HIZWE-> TV 5,
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Read the statement below and write a paragraph giving at least two reasons why
you agree or disagree with it. Write your answer in English in the space
provided on your written answer sheet. (20174F ELRRH - BGF?)

(It is suggested that you spend no more than 15 minutes on this section.)

“Gay marriage should be made legal in Japan.”

AEDA L=V R.2)T TEDEIRIEY IORREINED &b, FHRHDE
g EPGERB, SRR BB ERME L TRRLTELYL, ... EbHT
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LA FARHRS - #5461 1] AGREE

I agree. All humans should have equal rights. Legally, gays and lesbians
can’t do anything for their partners: they aren’t allowed to make them
beneficiaries of life insurance! they can’t receive an inheritance from them.
If gay marriages are made legal, they will be granted the same legal rights
as non-homosexuals. Also, | hear there are many gays or lesbians who want to
have a family. Gay marriages will make it much easier for them to adopt
children. Then, the number of orphans will decrease, and they will have a
better chance of having two loving parents. (97 words)



LA TRk - #5461 21 DISAGREE

| disagree. In my opinion, marriage should be limited to relationships
between a man and a woman. [ don’ t care whether someone is gay or lesbian, but
making gay marriages legal is an entirely separate matter. Is it reasonable
to regard a same-sex couple as a family? Is it a good thing for a child to have
gay parents? Also, there is a great risk that various social systems will be
abused. [f two non-homosexual men or women have their marriage registered,
they are regarded as a married couple and enjoy the benefits of social
security. Gay marriages might be used to commit crimes. (104 words)

[B Pt - el 1]

| agree with this idea. One reason is moral. [ believe that in a democratic
society like ours, people should be allowed to do what they want provided that
they do not harm others. Allowing gay couples to marry will not harm
heterosexuals, but by preventing them from marrying, heterosexual society
hurts gay people a great deal. We deny them property rights, for example, and
even the right to visit a loved one in hospital. My other reason is practical.
An inclusive society that gives full rights to all its members, whether they
are male or female, able-bodied or handicapped, heterosexual or homosexual,
is stronger than one divided by prejudice. Japan is falling behind its rivals
in the international marketplace. We need new ideas, from as many different
people as possible. (131 words)

[B Pt - s 2 1

| disagree with this idea. If we allow gay people to marry, we must allow
them to raise children. Unfortunately, even well intentioned gay couples are
unable to provide a healthy environment in which to do this. To function
effectively in our society, a child needs the influence of both a father and
a mother, To give two examples: a boy brought up by two women is likely to
become effeminate and, as a result, to be bullied by his classmates; a girl
going through puberty cannot get the help she needs if both her parents are
men. Also, let us not forget that gay couples break up more often than straight
couples do. Their children are therefore more likely to be raised by a single
parent, and to suffer both emotionally and financially. (134 words)

[C Tk - fEHi]

| agree that gay marriage should be made legal in Japan. First, to forbid
same-sex marriage is to offend basic human rights. I think all the people have
a right to decide who they live with or love. In fact, gay marriage is already
legal in many developed nations around the world. Japan stands as a developed
nation and so she should also respect her citizens’ basic human rights. Second,
some may say that legalizing gay marriage will break the tradition of
male-and-female marriage in Japan, but essentially, Japanese traditions have
changed over time. Therefore, the meaning of marriage should be reconsidered,
based on the tendency of our times. (109 words)



(D o R )
| agree. First, many developed countries and some developing countries have
already legalized gay marriage. That is a trend based on the idea that all
people have the right to look for happiness. It is natural for different
societies to have different (values, cultures, traditions, and) legal systems.
However, all men and women should enjoy equal rights as to such fundamental
needs as sexual preferences unless they harm other people. Second, even though
they are a minority in Japan, the proportion of gay people is estimated at five
percent. That means that some six million Japanese are gays. This figure is
too high to be disregarded, so keeping gay marriage illegal can be a
disadvantage (, rather than an advantage,) to the sustainability of our
society. (117-125 words)
*sexual preferences LIFMI T < —#723E5CTdh %, such fundamental needs as
sexual preferences — fundamental needs
*the proportion of gay people is estimated at five percent. That means that
some six million Japanese are gays. This figure is too high to be disregarded
— the proportion of gay people is thought to be not so small. That means
that not so few Japanese are gays. This fact should not be disregarded &
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